Preterite vs Imperfect Conjugations (4/26)
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Horizontal Vertical
1) NOSOTROS/ACABAR 2) TU/ICOMPRAR
3) USTED/ACABAR 4) NOSOTROS/ACABAR
7) TU/ACABAR 5) TU/CUBRIR
10) USTED/CUBRIR 6) NOSOTROS/CUBRIR
11) YO/ABRIR 8) NOSOTROS/APARECER
13) TU/ACABAR 9) TU/COCER
14) NOSOTROS/COCER 12) YO/ACABAR
16) NOSOTROS/COMPRAR 15) USTED/APARECER
17) YOIVER 18) TU/IR
19) USTED/SERVIR 20) USTED/ABRIR
21) TU/CREER 23) YO/CREER
22) YO/APARECER 25) USTED/SER
24) NOSOTROS/CREER
26) USTED/APARECER
27) USTEDES/ACABAR




SOLUTION
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